ITI Welder 1st Year Module 3 Welding techniques

(1). What is the capacity of oxygen cylinder? | iRitoH ficiex &1 emdT fd-t
g?

(A) 5m?3

(B) 7m3

(C) 10m?

(D) 15m?

Correct Answer : B

(2). What are the gas flame combination used for welding ferrous and non ferrous

alloys? | I T} 71 AfcET el TIE qUT 3Talig YT &1 afee™T o forg U
gl 8?

(A) LPG + Air | LPG + A1

(B) Acetylene + Air | Qﬁlﬁ?ﬂ:{+E|T§

(C) Acetylene + Oxygen | Qﬁlﬁ?ﬂ:{ + STt
(D) Hydrogen + Oxygen | B]?z@\_l‘l:f+ NICSINE]

Correct Answer : C

(3). How many types of distortion are there? | WWWﬁEﬁ?ﬁ% ?
(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : B



(4). What is the name of the defect marked ‘X’ shown in figure? | IEEE:] |3€°|IQ Ry
x' ¥ 3ifthd QY HTAH R 52

(A) Crack | T

(B) Spatter | TIICX

(C) Porosity | TRIRTCT
(D) Over lap | 3GR U

Correct Answer : C

(5). What is defined as vertical position of groove welding? | ‘J:da%"'[ﬁ

Fearer fRUfa & =g o e uRyiitd fear man g
(A) 1G
(B) 2G
(C) 3G
(D) 6G

Correct Answer : C

(6). Which operation the carbon electrodes are used? | CAGE 581@;)6 BT SUART

forey TR o foart ST 82
(A) Brazing | SifoiT
(B) Gouging | S|



(C) Soldering | TSI
(D) Reaming | JfHT

Correct Answer : B

(7). What is the effect of arc blow? | 3T ST pT T q“—ﬂﬁ%ﬁ?ﬂ%?
(A) Less spatters | HH W

(B) Poor fusion | WRId RYSIq

(C) Good weld | 331 ATS

(D) Good penetration | Waﬁ%ﬁﬁ

Correct Answer : B

(8). What is the colour of acetylene cylinder? | Qltlléf'“:l RINER WT‘TW@W
g?

(A) Blue | el

(B) Black | Tell
(C) Yellow | Otel
(D) Maroon | &+

Correct Answer : D



(9). What is the name of the part marked ‘X’ shown in figure? | IEEE:] |3€°|IQ Ry
x' 3ifpd YT T A 1 52

(A) Base metal | a9 Hed

(B) Coppertip | HIR feg

(C) Solderingiron | ISR 3TRA
(D) Soldered seam | gigs dF

Correct Answer : C

(10). What should be the angle for a double bevel butt joint? | EENEENEE
Slgc o foTE o lur 1 gIHT dTfgT?

(A) 45°

(B) 35°
(C) 25°
(D) 20°

Correct Answer : A



(11). What is the letter H indicating the electrode coding? | E@ITJE:I_S' HITST DI
ST R aTT 3&R H FAT 82

(A) Hydrogen controlled | B@mﬁwﬁa

(B) Electrode efficiency | sﬁa@@:a’w

(C) Current condition | P RUfa

(D) Radio graphic quality | %%a‘ruﬂﬁmgmw

Correct Answer : A

(12). What is the name of the part marked ‘X’ shown in figure? | ICEE:| GQIiQ Ry
x Fafgd R ST T M 82

(A) Safety value | gR&THeU
(B) Outer casing | 33T BT
(C) Body support | sl guid

(D) Oxygen outlet | o r3eaic

Correct Answer : A



(13). What is the colour of calcium carbide? | mmmw%mm
87

(A) Dark-Red | 8TF -8
(B) Dark - Grey | ST& -0
(C) Dark - Blue | 8T - &
(D) Dark - Yellow | ST - Ial

Correct Answer : B

(14). Which type of welding machine is convert AC to DC supply? | g upR ot

afegT == Ac ®1 pe 3MYfe # uRafdd el |2
(A) Rectifier | YfdeBTR

(B) Inverter | §dcX

(C) Transformer | TRABTHR

(D) Engine generators | 31 SF¥Ex

Correct Answer : A

(15). What is the name marked 'X’ shown in figure? | ICEE:| EQIiQ Ma '’ CIEES|

DI g1 <A T 82

(A) Weld slope | GIEKNIG]
(B) Line of root | TC B 3@l



(C) Weld rotation | Jcs AeTH
(D) Weld position | dee fufa

Correct Answer : A

(16). What is the colour of oxygen cylinder? | NIEnE

g?

(A) Red | T

(B) Blue | =TTl

(C) Black | Tl
(D) Maroon | H&

Correct Answer : C

o

N

AR BT T HATBIdl

(17). What defect you find in the given figure? | %Q‘TQﬁ'Hﬁ ISCAKSI KA

SUGIEE

D.C. WELDING
POWER SOURCE

(A) Arcblow | 31I<§>W$1d0bl

(B) Overlap | 3R Y
(C) Under cut | 38X HhC



(D) Distortion | fawgu

Correct Answer : A

(18). What is the angle of blowpipe in leftward technique? | AUcas dop-id H

YIS BT 6101 T §?
(A) 30°-40°
(B) 50°-60°
(C) 60°-70°
(D) 80°-90°

Correct Answer : C

(19). Which is the method to control back fire while welding? | ST Hd Ty
WRR d& & a3d A &1 o9 O fafdr g2

(A) Close oxygen control valve | o U0 aTed g &9
(B) Close acetylene control valve | gRfedE =0T aTed s B

(C) First close the oxygen cylinder valve | qaY LJG@I iRt Ricig ared dG
B

(D) First close the acetylene cylinder valve | ﬂa@%@f QI%”EF“-'—I RIcig dred
§G B

Correct Answer : A

(20). Which gas is dissolves in acetone liquid? | Wﬁﬁﬁq@ﬁﬂﬂﬂ?ﬁ% ?
(A) Oxygen | NIERINE|

(B) Nitrogen | :l'lgaﬁl:[

(C) Hydrogen | BTZgIoH



(D) Acetylene | Qltlléﬁ'n:l

Correct Answer : D

(21). What is the cause of hair line separation in the bead in arc welding? | 3T

AT St T §TR AT BT 3T §1H HT BRI T 82
(A) Fast cooling | aﬁﬁﬁma:ﬂ
(B) Slow cooling | WW&T@B@T@W

o

(C) Long arc length | S]] &Ié?ﬁddls

N

(D) Wrong selection of electrode | s@iqu CARINGECRE!

A

Correct Answer : A

(22). What is the special method for safe storage of acetylene gas in cylinder? |

fRreiex o vRifed 19 & QRfd WeRur & forg fawy fafer s g2
(A) Stored in gaseous form | T =0 & TIgld

(B) Stored in the solid form | 3 &4 U ¥Ufgd

(C) Stored in semi-liquid form | 37¢-TRd =0 & WIgId

(D) Stored as dissolved gas in liquid acetone | dXdl Q@lél-‘l ﬁ@ﬂ%%ﬂﬁ

Correct Answer : D

(23). Which type of polarity is used in aluminium welding? | Q@ﬂﬁﬂﬂa’%&”’[ﬁ
o B R D1 YadT BT YA o SITelT g2

(A) Rectifier set | XfGeHTOR AT
(B) AC Transformer | ACQ’W




(C) Reverse polarity | %qﬂagam
(D) Straight polarity | %ﬂeﬂm

Correct Answer : C

(24). Which is the hottest point in a oxyacetylene flame? | g sarar |

Y T fog HIF A g 82
(A) Outer cone | EI'I_ERQT@:[
(B) Outer envelope | GIIENGI Qra('iu

(C) Inner envelope | W@ﬁq
(D) Inner cone | ot &

Correct Answer : D

(25). Which gas have a low boiling point? | mﬁﬂwwmmm%’?
(A) Oxygen | NIER L

(B) Carbon | W

(C) Nitrogen | :I'IE_@GF[

(D) Hydrogen | B'IE@TXFT

Correct Answer : C

(26). What is polarity? | WW%’-’
(A) Circuit of current | Hic H1Gfbe

(B) Flow of current | Hc &I YdTg

(C) Open circuit of current | Obicﬁigﬂlﬂ'%



(D) Opposite direction of current | B¢ I [AURId fa=m

Correct Answer : B

(27). Which temperature liquid oxygen becomes solid? | g doHHE I aRd

3RS 31 81 oIt 82
(A) -200°C

(B) -205°C

(C) -218.4°C

(D) -325.3°C

Correct Answer : C

(28). What is the name of welding method shown in figure? | IEER: EQIié Tlé
AT A HTIm FA B2

B|T 6 & 4 3 2 1

—mf— | = | - | - | = | = | -=f— | —=-—

(I

(A) Skip welding | Py afcET
(B) Back step welding | SI@@U&‘IFQ'\S.‘I

(C) Wandering method | Wﬁfif
(D) Intermittent method | 3R fafd

Correct Answer : B




(29). Which material is used to check the leakage of acetylene regulator

connections? | E@r@v&r%ﬁaaﬁw%%ﬁmmﬁ%h%
Il o1 IUANT fahaT SraT 2

(A) Salt water | RT U

(B) Plain water | ITGT U

(C) Soap water | g1 &I U

(D) Chemical water | I Tt

Correct Answer : C

(30). What is the name of the method, the core wire is dipped in a flux paste? |

PR AR P! IR Ue H GO $1 [Afd HTAH T ]2
(A) Dipping | fSfT

(B) Extrusion | ToRISRIA

(C) Elongation | TR

(D) Contraction | fRIped

Correct Answer : A

(31). What procedure is followed to connect the cylinder to gas regulator in gas

welding? | T AT H Ricier &1 T W[aieR T SiisA & fore o ufshar 3mu-rs
STl 87

(A) Open and close valve for few seconds | W@W%ﬁﬂ Tl 3R &g aled
(B) Open the valve for a longer period | WFI_G?[ m%%uw@@r

(C) No need to open the valve before connection | W@WW@
GIer B STaFH I Tel &

(D) Open the valve for a few minutes of time | dled P P ﬁﬂzéﬂ%m@?f




Correct Answer : A

(32). What is the name of the part marked ‘X’ shown in figure? | ICEE:| fGQmq i
X' 3ifdrd UV T =TH FT 82

AC arDC
POWER
SOURCE

% T ——
(A) Electrode | 3@3@_5'
(B) Arclength | Wm

(C) Parent metal | Hel YTd
(D) Metal transfer | U@W

Correct Answer : B

(33). Which cylinder is fitted with fuse plugs? | Td Riciex H TR &HT o gld
g?

(A) Oxygen | NGRS

(B) Argon | 3

(C) Acetylene | Qﬁlﬁ?“ﬂ‘f

(D) Carbon-di-oxide | BT SIFHFAZS

Correct Answer : C



(34). What is the name of the arc length shown in figure? | ICEE:| EQIig ﬂ's‘%nu
CAKEIEEARIE eI

e 4 s
T
bt R
' 4
(A) Long | TdT
(B) Short | BIcl

(C) Normal | HHY
(D) Too long | 9§ Tdl

Correct Answer : C



(35). What is the name of the pressure system shown in figure? | ICEE:] GQIig Tl_sc
31§ OISt BT AT T ?

£
£z
df S
ACETYLENE GENERATOR ; -
(A) Low | H
(B) High | 3=

(C) Normal | HHY
(D) Medium | H&EH

Correct Answer : A

(36). Which position is advantageous for easy welding? | Wé’%ﬂ%ﬁﬂ
&I It fRufa e 82

(A) Flat | JHIA

(B) Vertical | @I

(C) Over head | 3dR 88
(D) Horizontal | &fdel

Correct Answer : A



(37). What should be the angle of electrode in the flat position welding? | i

fRufcr AfeET U Soldcle &1 HIvT T g1 A1 T?
(A) 50°to 70°
(B) 60°to 70°
(C) 70°to 80°
(D) 80°to90°

Correct Answer : C

(38). Which material is made up of rectifier supporting plate? | YFemTR guifén
wie fpa uarf 4 s gt 82

(A) Copper | dTaT

(B) Mild steel | el W1

(C) Aluminium | &Iﬂ'ﬁﬁﬁ'ﬂﬁ
(D) Stainless steel | LA ©id

Correct Answer : C

(39). Which one of the defect is caused by low current in arc welding? | 3T
ST H HH e & HRUI DI T GBIl 82

(A) Porosity | ORI

(B) Under cut | 38X HhC

(C) Lack of fusion | Wﬁw

(D) Excessive penetration | Wﬁ‘ﬂaﬂq

Correct Answer : C




(40). What is the name of the pressure system shown in figure? | ICEE:] amié TI_Sc
31§ YUITGlt ST AT T8 ?

%ﬁ_
%,ﬁfﬁ

N e

(A) Low | H
(B) High | 3=
(C) Normal | HHIY
(D) Medium | H&EH

Correct Answer : B

(41). Which system of welding is free from “Arc blow”? | i BT B A1 RRew
"3{Teh ST H o 51l g2

(A) AC welding | AC afcE™
(B) DC Reverse polarity | pc Rad grarivd

(C) DC straight polarity | DC@A_C’ ‘Q_Q%IT'IT
(D) Welding with long arc | GEIEICE RN RS



Correct Answer : A

(42). What is the type of distortion shown? | WWWWW%’R

(A) Wide distortion | Wﬁ?ﬁ[
(B) Angular distortion | S0 fagpfd

(C) Transverse distortion | GIEWW
(D) Longitudinal distortion | 3G fasfa

Correct Answer : C

(43). What should be the angle of filler rod, by rightward welding? | ?Iéaaé

3feET gRI fheR WS BT HI0T R g ART?
(A) 30°-40°
(B) 40°-50°
(C) 50°-60°
(D) 60°-70°

Correct Answer : A



(44). Which welding techniques, the welding starts at right hand edge and

towards left? | ﬁmwmﬁwmﬁwgwm%ﬁ
87

(A) Leftward | 9T 3R

(B) Rightward | Glfg-il 3R

(C) Backward | fU&ST

(D) Up and Downward | 3R 3R Hd

Correct Answer : A

(45). What is the welding technique shown in figure? | ICEE: Ia@llé Tlga%"'[

(A) Leftward | 98 3R

(B) Rightward | Glfg-t 3R
(C) Backward | fU&ST

(D) Upto downward | =iTd ddh

Correct Answer : A



(46). What is the name of the machine shown in figure? | ICEE:| Iaﬁlé TIT.{"J:I'QﬂT-T
T -TH T ]2

(A) Rectifier |W
(B) Inverters | E_CIT

(C) Transformer | glﬂ'tb_lﬁ?
(D) Generator | SFYEY

Correct Answer : C

(47). How is the electrode size is referred? | 5@10@6 h[ DR ﬁﬁﬁgm
ST 82

(A) Diameter of core wire | PR IR BT AN
(B) Diameter of filler rod | HRId ®© & [ AT

(C) Diameter of cable wire | A dR P Y

(D) Diameter of flux covered | WW‘TQ UcfdR] hT T

Correct Answer : A



(48). What is the name of the defect, the number of pin holes formed on the
surface? | GIY &1 T M g, Tdg IR 4 a1at {9 81t 1 Tae

(A) Spatter | TeX

(B) Porosity | URIRICT

(C) Blow holes | &I gl

(D) Burn through | & RIS

Correct Answer : B

(49). What is the name of the part marked ‘X’ shown in figure? | ICEE:| fGQmq i
X' Sfpd YT BT T AT 82

(A) Generator | S

(B) Current flow | PXC Udlg

(C) Backing strip | W@’q

(D) Direction of welding | é%ﬂﬁ%‘m

Correct Answer : C



(50). How many pressure gauges are in regulator? | %‘,!@IE? ﬁ%ﬁﬁmﬁasﬁ
87

(A) One pressure gauge | Udh ORIl

(B) Two pressure gauges | al UTR 5T

(C) Three pressure gauges | T IR I

(D) Four pressure gauges | IR UIR Tl

Correct Answer : B



